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30197622 poup A-4 /xerox/ PLUZ hunn 1900 66.5 35
39263200 gpuubiywlwhi: ghpp /92 plipp/ PCUZ hunn 500 1.0 2
30192160 ounhju PLUZ hunn 250 2.5 10
30234300 nunupl ujujunuly PLUZ huwn 100 4.0 40
2851200 pnpwwwbwl §ndqud PLUZ hun 150 3.0 20
30197231 pnpwywbwmlu duy PLUZ unuth 1000 5.0 5
30197232 ppwywiwl wpuquljup PCUZ hunn 80 4.0 50
30197232 pnpuywihul wpuquljup/ PCUZ huwn 170 34 20
goutiunp/oyjwunhl
30197233 | pnpwwywhwl nkghuwnp /Eploquljuih / PLUZ huwwn 800 4.0 5
30192137 dwwnpwn /huuwpuly/ PLUZ huwwn 70 0.700 10
30197100 | Wuwphsh vbnmwunuyupt fuubp /dhohty PLUZ wnnuth 100 2.0 20
30192128 qphs /unynpuljuiy/ PCUZ hwwn 100 3.0 30
35821400 npno PLUZ hun 2500 2.5 1
24911200 unuhtd /Ednijuhw/ PLUZ huwiwn 200 2.0 10
30192730 puthwiighl Yusnih juqd PCUZ hwwn 100 2.0 20
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22811120 ppudwpynuyhb dnunph opnkp PCUZ hwn 5 5.0 1000
~ 30197332 Ywphs/dhoht/ PLUZ hun 1750 3,5 2
30199231 buwdwhh dpwp dpohtt swthup PCUZ hwwn 20 1.0 50
30199232 Opuwp, ukd A4 $npuwnh hwdwp PLUZ hun 50 15 30
30192710 Unubdwdunnhwnn gpuubiywljught RCUZ hwn 180 0.900 5
30192720 Sdwlighs Awplkp/ PLUZ hunn 200 1.0 5
30192135 Gpwdhint dhomly dwwnhwnh hudwp PCUZ huwn 80 0.640 8
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09132200 Phlight / nkqnuyjup/ PCUL {hwp 360 600.0 1667
09121700 Fhwljwh qugq PCUZ hadd 165 300.0 1818
pugudkip 900.0
Uy pulp
30237100 Zundwljuipghs 500,0
Utipklutikph swpdhsbph dwubp b
wwpuquikp 300.0
45461100 Chtwmiymp hwdwjbpwytnwupuith - — - -
pupwghl inpnguwh hwdwp
punuudkip 200.0
Uwubwghnwlwh swnwympyn PLU2 npud e =
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‘uywuwpldwb J&wp
76130000 Fuquuywedwl hunfwlupgh PLUZ npud --- 40.280 -
uywuwpldwi J&wp
22211100 << Upnnuljuipg>>phpph PLUZ hwwn 48 6.720 140
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72200000 | b/h b g/h wfnndwinugus hudwlwpgh PLUZ npud 33400 43.2 1
uywuwpluwh J&wp
72200000 nbnEjunjuiulwih hudwlupgh PCUZ npud 10000 120.0 12
uywuwpldwhb J&wp
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66111200 Puilijuhb Swnwynipinih PLUZ npuu --- 20.0 =
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Sunud shwbinhuwgnn dwhiu
99000000 woliwnwyupd - npud 15000.0
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Ownuynipynih

gpudunnwlwpupiwi J&wp PLUZ fud 36 2500.0 69445
SGunud shwbinhuwgnn dwhiu
wphwnwy]wpd npud 1150.0
punudkiip 3650,0
Opwgph winjwnudp Uudwyn-phnntyju swslh
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45231187 Upwpunnjuh thnnnghg ntwh AUY juwyny Q2 npud 2000,0
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71241200 ‘Lwhiugdwbwpwhwoyughb PLUZ npud 300,0
woliunwbipikp
Uy puitip
09121700 Puuljul qugq PLUZ fud 165 400,0 2424
punuudkip 2700,0
Opuigph wiwbnidp  Gupywljub 7455.2
pynigbh wwhniuunnuyht $ntin
Pwdht 11 fjunulp 01 nuu 02
Onwgph winjwbnuip  $nbguht 285,4
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Pwdhl 11 funulp 01 guu 02
Cunudkup 56991.8




